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010 Oood

1.1 00000 (FirstLeaf):000OO00O0D0OCOO

[[Po]]

1.1.1 00000000 (ShiftEnter)

MapleOOOOODOOOOOODOOOODODOOOODOOOODODODOOOODOODOOO MapledOODOO
uboooboooobobooooboooon

> plot(sin(x),x);

D000O[enter] 000000 0sin00000000000

1. 00000000000000000enter]00000000000000 MapleDOOOOOO0OOOO
000000[enter|00000000

2.00000000000O00DO00O0O0D0ODOO
3.0000000000000000000000 shift+enter 10000

4. 000O0enter 00000000 OOOODOOOOODOODOOOOODOOOOODOO

1.1.2 0000000000 (command();)
gooobbbboouoooobbobobood

> command(00 1,00 2,...);

godg

> command(0 0O 1, 00000 1,00000 2,...);

good

1. ()00000000O0o0ooOooUooooooo
2.000000b000D000DOODOODOObOOnbg

3. 00000 (;)0000 (:()0U0000 MapleDOOODOOOOOOOOOOOOMapleDODOOOOODO
oooo

4. COO0DDOO0O00ODOOOO0ODOOO0ODOODOUODOOOUODODOOOOOn
ggoobbobboouooobbbobboooouoooboboo
sin(x) 0 x0000 o000 pi00O plot 00O

ugbogbogoobooooabo



8 g1g o0ood

plot sin(x) with x from O to Pi.

000000000 MapleODOOOO

> plot(sin(x),x=0..Pi);

000000000000000 Verb (00 ), Object (00DD0)00000O00OO0OMapleDDO0OO0O
> Verb(Object, OO OOODO);

O000DOO0000OO0o00oOo0o00oDOO0O00DO000O0OO0OOMaplebDOO0ODODOOOODOOO

1.1.3 000 (?)
oooO0O0O0O0O0OD0OO0O0OD0OO0OO0000000000 plot00000000000000
> 7plot;

oood

ooboobooooooooooobOoooooboooOoboboooboooboOooboobbooooOoooon
goooooooooobooboobobobooooooooooooboooooboobobOoboboboooooo
goooooooooooooboboboboobooooboooooooooDobDobDobOoboboboo
OO000000o0o0o0oOo0o0obOo0ooobooO0oobobOOMapleDO0DOOODODOOODOOODOOODDOO
oooooobooooooo

[[Po]]

plot 000000
1 plot 0000 helpOO OO0
2. 000000 copy0000000000000000000000000O000
3.200000sin(x) 0 cos(x)00 x=-Pi.PiD0000000000

4. 0000000000000000000 color=[red,blue] O OO style=[point,line] 0000000000
OO0 Oplotloptions] D000 helpO0O0OOOOOOOOOOOOOOOOOOO

plot3d0 00000

1.xy0OOOOOOOOOOOOOOOO0000000300000000000 plot3d00000000
0000 sin(x)*cos(y) O x=-Pi.Pi, y=Pi.PiD 0000000

2. 000000000O00O0O00O0OO0O0OOO0bOOO0bOOOOOOO0bOO0ODbOOO0OOOOObOOOnOn
gbobooooooooboooo

[[Pool)]

plot

1. > ?plot;

> plot(cos(x)+sin(x), x = 0 .. Pi);
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2. > plot([sin(t), cos(t), t = -Pi .. Pi]);

3. > plot([sin(x),cos(x)],x=-Pi..Pi);

—_
w 4

4. > plot([sin(x),cos(x)],x=-Pi..Pi,color=[red,blue] ,style=[point,line]);

plot3d

pot 0000000000000 Oplot0000000 windowOODODOOOOOOOOOOOOOOOOO
O0000000Oplot3dd0000 options00O0D00O0O000O0DOOOO0DOOO optionO0O0O0DOODOOO
O 7plot3dloption] ; OO OO

1. > plot3d(sin(x)*cos(y),x=-Pi..Pi,y=-Pi..Pi);}

2.0000

> plot3d(sin(x)*cos(y),x=-Pi..Pi,y=-Pi..Pi,style=contour);
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gboooo

> plot3d(sin(x)*cos(y),x=-Pi..Pi,y=-Pi..Pi,axes=boxed);

3. 000000000 plot3dd0 option0O00D0O0O0O0O0O0OOODO

> plot3d(sin(x)*cos(y),x=-Pi..Pi,y=-Pi..Pi,orientation=[45,80]);

[oo])

00 (Error)
obooobooboobo. oo, bob0bobbooboooboooba

> plot(sin(x,x=-Pi..Pi);

Error, ¢;°¢ unexpected

oooo,

> plot(sin(x),x=-Pi..Pi);
Oo00o00ooOoOoOooooOgOgpletbooooooon
> plot(sin(a*x),x=-Pi..Pi);

Warning, unable to evaluate the function to numeric values in the region; see

the plotting command’s help page to ensure the calling sequence is correct

-3 -2 -1 1 2 3
-5 N
10

o1d

oood

O00000000x01000000O0sin(a*)000000000000000000O00OCOOOpletOOO

obooobOobooobOobobooobOoboooobOobb a00o0oobobooooaon

> plot(sin(2*x) ,x=-Pi..Pi);
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1.2 000000000000 (Functions)

[[Po]]

1.2.1 0000 (ElementaryFunctions)

O00OOD0evalf OO0OOO74+-*/7000000000000000000O00OOOO

> 3/4;
3

4
000000 (D0000U0)0000Ud00evalf00nOOn

> evalf(3/4);

0.7500000000

goood (polynom) ogbobooooobooboooooooooooooooo-"ooon
> 3%x72-4%x+3;

322 — 4z + 3

000 (sqrt) 0000 squareroot 0000 sqrt 00 00O

> sqrt(2);

V2

0000 (trigonal) sin,cos 000000000000 0O0OO0ODOOOO sinz 000

> sin"2 x;

Error, missing operator or ‘;°¢

oooooo

> sin(x)"2;

sin® x

O00o0ooDO0oO0o000oDOOo0o000ooooOb00ooD »O07PPO000D0OOMaple0 00000000
oooobooooo
0000 (radian) 00 (degree) 000000000 O0ODOOOODO

> convert (90*degrees, radians);

convert (1/6*Pi,degrees) ;

30 degrees
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000000 (inifnc) O000OO0O0O0O0OOO0O0OO0OOO0OOOOOOOMapledO00O0O0OOOOOOOOO
oooooo

> ?inifnc;

ugboogaod

1.2.2 00000000 (unapply)

bobooboboooboobooooboobooooboobooooobooboooon
00 f(x)=2:—-3000000000Maple0OO

> f:=x->2%x-3;
f=x—2x-3

0000000000000 0000000O0000000000OU0O0U00O0L0D0O0OD f(z)DDOOODQOO
oono

> £(3); #tres: 3 (UOOO0ODODOODOOOOOOODODOO)
f(a); #res: 2 a - 3
plot(f(x),x=-2..2);

O000D00C000DOCO000DoOoO0UdwmapplyDO0O0OO0OOOOO
> f:=unapply(2*x-3,x);
f=2—22x-3

goooooooobooooDDDDObOO0O000000000wapply0 0000000000000 00000OO

1.2.3 package 00000 (with)

Maple OO0 DOOOOOOO00OO0O0ODOOOOOOODOODOOOOOOO helpOOOOOOOOODOODODOO
ooooboooobobooooobobooobobooooboboobooooboo

> with(LinearAlgebra):
0000000000000 DOOO000000000000000000000O0OO0™
> 7index [package] ;

O000D00O000D00D packageOODOOOOO

[[Po]]
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ooooboooo
l.evalf 0O0O0O0O0OOOOCOPIO 100000000000
2. 0000 (tan) 000000 arctan O x=-Pi/2..Pi/2,y=-Pi..Piscaling=constrained 0 0000000000

3. 00000 m(x)0000000000000DOOO0O0O0OOOOOOOO
1
log;q 1000,log21—6,log\/5125
4. 00000 y=2°00000000000000 x=-5.5y=-5..5000000000000000
y=-2"y=(1/2)"y=—-(1/2)"

5, 000D expODOOOOODOe*0 logeOODO0O0 y=20000 x=-5..5,y=-5..50plot 000000
gboooooobooooooo

6. 0000 factorial 0 3000000000000 DODOOCO0OOCOOO00OO0O0OOOOOODDOOOOOO
goooo

[[Pool)]

Functions

1. evaf 000 O0O0O0O0OOOPIO 100000000000

> 7evalf;
> evalf[1000] (Pi); #0O O

2. 0000 (tan) 000000 arctan O x=-Pi/2..Pi/2,y=-Pi..Pi,scaling=constrained 0 0000000000

> plot([tan(x),arctan(x)],x=-Pi/2..Pi/2,y=-Pi..Pi,scaling=constrained);

05115

3. 00000 h(x)O00O0OO0O0OO0O0DOOOOODODOOOUDOOOOOOO

1
log;, 1000, log, 16’ log 5125
> ?1n;

> 1og10(1000) ;
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g1g o0ood

3
> logl[2] (1/16);

—4
> loglsqrt(5)1(125);

6

4. 00000 y=2*00000000000000 x=-5..5,y=-5..5000000000000000

y=-2%y=(1/2)"y=—(1/2)"

> plot([27x,-2"x,(1/2)"x,-(1/2)"x] ,x=-5..5,y=-5..5);

0000000000000 00000000D)x000004)y0ODOOO,i) 000000

5. J00D0OD expODOOOOODOe*0 logeOO0D000 y=20000 x=-5..5,y=-5..50 plot 000000
gboboooooboooogooo

> plot([exp(x),log(x),x],x=-5..5,y=-5..5);

6. 0000 factorial 0 3000000000000 DODOOCO0OOCOOO0O0OO0OOOOOOODDOOOOOO
gpoooo

> factorial(3)

> 7?factorial;
> 31
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1.3 00 (Equals)

[[Pooo])]

obooo00 OobOboobooooooboooboooboobOobobOobOoboOooOOOoOOobOOobOOobOobOoboOobooon
O000D0O0O0000DooO00oooo0oO0 MapleOOODOOMapleDOOODOOOOODODOOOODOOOO
O000D000 MapleOODOOOOOODOO

1.3.1 000000 := (colonequal)
000000000000 := (colonequal) DOOOOOOO

a=3, b=20000a+b 0 UOOODONO

O000obOoOMapleDOOQOOOOO

al 3, pd0200000000a+tbO0OODOOO

ooooog

> a:=3; #res: 3
> b:=2; #res: 2

> a+b; #res: 5
00000000000 ar+b=cz’+dz+e00000eql000000ODO
> eql:=a*x+b=c*x~2+d*x+e;

3r+2=cr’+dx+e
a,b0000000D0O00OOODOOOO

1.3.2 000000 (restart)

booooooooobooboooobooboobobobobobobobobooboooobooooooogon
ooooooo

> restart;

gbooobobooboboboboooooboboobobobobooobobobobooboboboboon
bobooboooobooboooooboboooooboooobonbo "ooono

g0o0D000dsubsOOOO

1.3.3 00000 (solve)

x=20000 x0g004aoo

uboogogn

> solve(3*x=2,%);

ggbogooboobooogo
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> solve({x+y=1,x-y=2},{x,y});

O00OO0Osolve DOODOOx,yOOOOoOoooooo

> soll:=solve({x+y=1,x-y=2},{x,y});

> assign(soll);

gbooooooooooooono

> XY

| w
| =

gooo0ooooooooooooonooo

ooooooo (fsolve) 00000000000 0D0O00D00D000D fsolveOOOODOO x0O assign 000
O00O0OxO000O0O0O00Oooo

> x:=’%x";

> fsolve(log(x)-exp(-x),x);

T =T

1.309799586

1.3.4 000 (Identity)
gboogboobobobobooobooo
(x—2)2 =2 4o +4

gbogbooboobooboobbobbooboo «.00DbO00DbO0ODbOoO0ObObODbOODOODOODO
ooooboboooboooboo

(x-2)"2000 (expand) OO0
O0O00D0O00O0O0OD0O0OD0O MapleDODOOOOOOODO
> expand( (x-2)72 );
x? —dr +4

00000000000 (factor) 000 ()OO0 (int) 000000000000 OMapleDO000OO00OO
gboogboobooobogobooooo

D{LDD?]}E}I}D oon

1. a=3,b=4000 ab00000000000000000« 00000
2. eql=3%x+4=2%x-2, a=2 000000 eql/aeql+a0 00000000000
3.30 (1,2),(-34),(-1,1) 0000000000000

4. 000 sin(z+1)—-22=0000000 fsolve 0000000000000

[[Poo]]
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Equals
1. a=3,b=4000 a,b00000000000000000 *00000
> a:=3:

> b:=4:
> at+bj;a-b;axb;a/b;a"b; #0 0

2. eql=3*x+4=2%x-2, a=20 00000 eql/aeql+a0 00000000000

> eql:=3%x+4=2%x-2;
> a:=2;

> eql/a;

> eql+2;

eql :=3x+4=2x—2

a:=2
3
3x4+6=2x (1.1)

3.30 (1,2),(-34),(-1,1) 0000000000000
002000000000

> restart;

> fi:=x->a*x"2+b*x+c;

f=z—ar’+br+c

(1,2)00000000f(1)=20000000 elO00000OO
> eql:=f(1)=2;

eql:=a+b+c=2

goooooo

> eq2:=f(-3)=4;
> eq3:=f(-1)=1;

eq2 :=9a—3b+c=4
eqd == a—b+c=1

0030000000000ab,cO00D0O00D0OO0DO0O
> solve({eql,eq2,eq3},{a,b,c});

{a=1/2,b=1/2,c=1}
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4. 000 sin(z+1)—-22=0000000 feolve 0000000000000
gobo200000000000000

> plot([sin(x+1),x"2] ,x=-1..1);

0000000000000 0o00000DO00D0DO0O0000o0oO0oo0oO0oOoond solveOOOd
> eql:=sin(x+1)-x"2=0;
> solve(eql,x);
eql == sin(z+1) —2® =0
—1+ RootOf (—sin (-Z)+1—-2_Z + _Z7)
00000000000 0000Ofsolved DOOOOOOO

> fsolve(eql,x);

0.9615690350

0000 x0000000000000000000O00000O0OKolved xOODOOOOOODOOOOO

> fsolve(eql,x=-1..0);

—.6137631294
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20 OO0

2.1 00 (Diff)-I

[[Po]]

2.1.1 0OO0OOO (diff)
O0o0ooooooooooooooooog
> diff (x"2-3*x+2,x); #res: 2x-3
O00o0oDoooooooooooooooo
> diff(sin(x),x,x); #res: -sin(x)
O00000000000$SO000000000000 x00000300000000

> diff(x"4,x$3); #res: 24x

000 (PartialDiff) 0000000000000 00OO0O0ODOOO0OOO0O0ODOOOODOOOOOOOOO

> eql:=(x+y)/ (x*xy);
> diff(eql,x);

Tty
eql :=
xry
1 r+y
Ty 3y

[Po]]

2.1.2 0O0:000000000

ooooboobo1l1oocoboobooooboboooboobooooobooooooon

x
2 —2x +4

god

> f£0:=unapply (x/(x"2-2*x+4) ,x) :
> df:=unapply(diff (£f0(x),x),x);
> plot ([£f0(x),df(x)],x);

1 z(2z-2)

df ==z (22 =22 +4)"
/ ( ) (22 — 22 +4)°

(2.1)



20 gz20d

0.4
0.3

2.1.3 00:00 (Tangent)

bbb e-=3000000002000000000000000

y=a>—22% 35z

000 OoOoofooooo
> fO:=unapply(x~3 - 2*x"2 - 35%x,Xx);

f0 =z 23 —22% 352
gpbooodqdfogon
> df:=unapply(diff (£f0(x),x),x);

df .= z—32%2—42-35
00 (x0,f0(x0)) 000 df(x0) 0000 10000

> x0:=3;
> eql:=df (x0)*(x-x0)+£0(x0) ;
> f1:=unapply(eql,x);

z0 =3
eql = —20x — 36
fl == x+— —20x — 36

20000000000D000

> plot ([f0(x),f1(x)],x=-5..5);

-100

ooo
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2.2 00O (Diff)-1I

[[Po]]

2.2.1 0000 (series)
Taylor 000000000000000 (x=2)000 40)000000
> tl:=series(sin(x),x=a,4);
1 1= sin(a) + cos(a)(z — a) — = sin(a)(z — a)? — écos(a)(m —a)* + Oz — a)")

2
00000000 O0(z—-e)*) 0000000000000 00000000OwapplyD000000O0OO

O000OOconvert 0000000 (polynomial) 00000000

> el:=convert(tl,polynom) ;

> f1:=unapply(el,x);

2 3

t1 :=sin(a) + cos(a)(x — a) — % sin(a)(x — a)” — G cos(a)(x — a)

f1 := x — sin(a) + cos(a)(z — a) — %sin(a)(x —a)? - écos(a)(x —a)?

2.2.2 000 (D)
JddooooDooooobOooooo

> f:=unapply(x~4*exp(-y~2), (x,7));
> D(£(x,y));
> (Dee2) (f(x,y));

f= (z,y) = 2" exp(—y?)
4D ()2 exp(—y?) + ' D (exp(—y?))
4 (D(2)> (z) 2% exp(—y?) + 12 (D (x))® 2® exp(—y?) + 8 D (z) 2°D (exp(—y?)) + =* (D(z)) (exp(—y?))

O0000D(x) 000 x000000000000O0x,yOOOOOOOQOGOO

> diff(x,x);
> diff(exp(-y~2),y);

1
—2yexp(—y°)

0000 MapleDOOOOOOOUOOOOUOODOODOUOOOOUOODOOOOOO D(x)0O0O0OO0OO0OO0OOOOOO
subs 0O O0O0O0DOOOOODOOOO

> dd:=D(f(x,y)):
> eqs:={D(x)=diff(x,x),D(exp(-y~2))=diff (exp(-y~2),y)};
> subs(egs,dd) ;

eqs == {D(z) =1,D (exp(—y*)) = —2yexp(—y°)}

42% exp(—y?) — 22y exp(—y?)



22 20 000

223 0O000DOO0OO0ODO

\

diff (f (x)*g(x),x);
diff (f(g(x)),x);

\4

d d
(@) o@+ @) o
d
D el
(1) (9 ) g )
> fi=x->exp(x);
> gi=x->cos(x);
> diff (£ (x)*g(x),x);
> diff (£(g(x)),x);
f = x— exp(x)
g = x> cos(x)
exp(z) cos (x) — exp(x) sin (z)
— sin (z) exp(cos x)
googoooo
1. 000ogoobooooa
1 1
Dalogz, i) ——, iii) vAz + 3, iv) —————
(1+4x)* a2 4 (z — x)*
2. 00000 1000s00000000O
i) sin® z, ii) e®
. udddddgxobbboobobotboboddddoooooooobo bbb bbb bbbbbooUooUouyg 5
gogbooboboobooboooa
i) y =sinz,zy =0, ii)y:cosm,xozg
4. (00000 f(z,y)=€"log(l1+y) 0 2=0,y=000000300000000
o))
Diff

1. > diff(x*log(x),x);
> diff(1/(1 + x)°3,%);
> diff(sqrt(4*x + 3),x);
>diff (1/(a"2+(x-x0)"2),x);

In(xz)+1
-3 (1+z)"
2 (Viz+3)

22 — 220

(a2 + (z — x0)2>2

4




2.2. 00 (Diff)-II 23

2. > diff(sin(x)"2,x);
> diff(sin(x)"2,x$2);

2 sin (z) cos ()

2 (cos (:c))2 — 2 (sin (x))2

oo

3. 000pooafoonod
> f£0:=unapply(sin(x),x);

f0 := x — sin (z)

00000000000 eql0000000000O000000eql 00000000 (convert)dunapply
opooo

> eql:=series(£f0(x),x=0,3);
> f1:=unapply(convert(eql,polynom),x);
eql :=x+0 (x3)
fl =z—zx
ooooooooo
> eq2:=series(f0(x),x=0,5);
> f2:=unapply(convert(eq2,polynom) ,x);
eq2 ==z —1/62° + O (2°)
2 =xx—1/62°
300ooooooooo

> plot ([f0(x),f1(x),f2(x)],x=-Pi..Pi);

> series(f0(x),x=Pi/2,3)

obooooboooon



24 20 000

4. f:=unapply (exp(x)*log(1+y), (x,y));

[ = (z,y) = exp(z)In (1 +y)

eql:=series(series(f(x,y),x=0,3),y=0,3);

eql == O (xg) +(1+ 1/22° + )y + (-1/2z-1/2 - 1/42°) y* + O (y°)

> g:=unapply(convert (convert(eql,polynom) ,polynom), (x,y));

g = (z,y)— (1+1/22° +z)y+ (-1/22 - 1/2 - 1/42%) y°

> plot3d([f(x,y),g(x,y)],x=-1..1,y=-1..1,axes=box);

oooooo
oobooboooobobooood

> f:=unapply(x~4*exp(-y~2), (x,y));
> d:=Diff (f(x,y),x);
> d=value(d);

f = (wy) = ot exp(—y?)
d = % (z* exp(—y?))

o
o (z' exp(—y?)) = 42° exp(—y?)



2.3. 00O (int)
2.3 00O (int)

[[Po]]
2.3.1 00000 (int)

Oooooooo
> int(In(x),x); #res: x In(x) - x
oooobooooooooOoooboooooboooo
> int(sin(x) ,x=-Pi..0); #res: -2
OooooObo0o0ooDoOoOooooDooOooooboooD
> int(1/sqrt (x*(2-x)),x=0..2); #res: pi
0000 (infinity) 00000000000 0OOOOOOOO
> int(1/(x"2+4) ,x=-infinity..infinity); #res: 1/2 pi
oooooboooooobooboooooobooooDbooooDoooooDoooo

> eq:=sqrt(4-x"2);int(eq,x);

eq == /4 —x?
1
533\/4—332 + 2 arcsin (1/2x)

ooooboooobooboooooboooooboobooooon

> eq2:=exp(-x72);int(eq2,x=0..22);

eq?2 = exp(—x?)

% merf(zz)

2.3.2 studentUOO0O0OOO0OO

25

O0O0O0O0000DOOO000O0OMaple0 D00 nt000O00O0DOOOOOODOOOOOOOODDODOOO
Oo0oo0oO0ooOO00DoO00oOoO0OoOo00oOo0oOo0ooobO00DODOD studentOOO0O0OOODODOO

ogod

> with(student):

0000 (integration by parts) [

> intparts(Int (x*exp(x),x),x);

xexp(x) — /exp(z)d:c



26 20 000

00 (change of variables) 00000 O

> Int((cos(x)+1) "3*sin(x), x);
> changevar(cos(x)+1=u, Int((cos(x)+1) 3*sin(x), x=a..b), u);

> changevar (cos(x)+1=u, int((cos(x)+1) 3*sin(x), x), u);
/(cos (z) +1)° sin (z) da

cos(b)+1
/ —uidu
cos(a)+1
1

4

0000 (partial fraction) 0000000 0000 (partial fraction) 000000000 O convert 000
oooooo

> pfl:=convert(1/(1+x"3) ,parfrac,x);
int(pfl,x);

f1 1l —x+42 n 1
L N e R | 3(x+1)

1 1 1
~6 In(2® —z+1) + g\/garctan (1/3 2z —1) \/§> + 3 In(z+1)

[[Po]]

1. 0000:0000000000O0
: . 1 1 :
i) [4x+ 3dx Du)/l dxl]m)/mdx DlV)/\/l—m2d£L’

+e”
2. 000:0000000000

T 1 2 1
1 1
i sin xdzx 0O ii arctan zdx 0 iii ———dx Oiv ——dx
)A )A )qu4—x2 )A:ﬂ+x+1
3. (00000000000 200000000

// Va2 +yidedy D:0<y<z<1
D

[[Poo])]

1. > int (4%x+3,x);

> int( 1/ (1+exp(x)),x);

> int(1/(exp(-x)+exp(x)),x);
> int(sqrt(1-x72),x);

222+ 3z
—In(1+¢e")+1n(e”)

arctan (e”)

1 1
7% 1—224 3 arcsin ()



2.3.

00 (int)

int (sin(x) ,x=0..Pi);

int (arctan(x) ,x=0..1);

int (1/(sqrt(4-x~(2))) ,x=-2..2);
int(1/(x"2+x+1) ,x=0..1);

vV V V V

3. > with(plots):
> inequal ({x-y>=0,x>=0,x<=1,y>=0},

> f:=unapply(sqrt(x~2+y~2), (x,y)):

27

x=-0.5..1.5,y=-0.5..1.5,optionsexcluded=(color=white));

0.5 1

-05 05 15

-0.5-

> plot3d(f(x,y),x=0..1,y=0..1,axes=box) ;

> int(int (f(x,y),y=0..x),x=0..1);

é\/iJréln(H\/i)






030 0o

3.1 000000000 (MatrixVector)

[[Po]]

0000000000000 00000000 (LinearAlgebra) D000 OOOOO

> with(LinearAlgebra) :

3.1.1 0000000 (Vector)

oooobooog

> vl := Vector([x, y1);

=[]

29

0000000000000000 (eolumn) 000000000000 0OOOOOO (row)00O000O0ODOODO

oooooo
> v2 := (Vector[rowl]) ([x, y, z1);

v2 = [x Y z}
0000000 (000 columnO000000000O0O row.

3.1.2 00000 (Matrix)

000000 (Matrix) DO OO0

> A0 := Matrix([[1, 2, 3], [4, 5, 6]1); #res: OO
obooobgooboobon

> LL1 := [[1, 2], [3, 4]1]:
> Al := Matrix(LL1);

gboooooao

> E := IdentityMatrix(2);

E =

10
0 1

000000000 DiagonalMatrix OO0 O O00D0OOOO0OOODOOOOODOODOOOOO

]

> Matrix(2,2,shape=identity);



30 g3d oood

3.1.3 000000000000O0O00O (MVShortcut)

00000 (<--->) 0000000000000 O0O0OOO0OOOO0OOOOOOOUOOOODOOOOOOO
obooobOoooobooboooooboooobooboobooobooon

vii=<x,y>; #0 000000

v2:=<x|ylz>; #0 000000
A1:=<1,2;3,4>; #2x200

<AM|vi>; #2x300 (0 0O0O0OODOOO0O0O)
?MVShortcut; #res:[ [

V V V VvV V

3.14 0000000000000 (MVextraction)
D0 AID102000000000000
> A1[1,2]; #res: 2
00000000000000000
> A1[1..2,1..2];
]
3 4

2x2000 200 (DO0OO0O0OOOO)ODOOOoOOOOO

u

0000000 (Row)DOOODO (Column) 000000 DOOOODOOOOOOOO

> A1[..,2..2];

> Column(A1,2);

[[Po]]

1. 0000o0Oobooooooo

3 3 3 100
(a)[g \ 3],@)[0 X 0],@[1 2 3@

o O =
S N O
w o O
—
@
S~—
—
v 8
8 8
w
[ I
—~
[
—
~N &~ =
co ot N
O o W



3.1. 000000000 (MatrixVector)

[[Poo])]

1. (a) > Matrix([3,3,3],[3,3,3]11);
> Matrix(<3,3(3,313,3>);

3 3 3
3 3 3
oboobooooboboooobobooooboooboobobooooonbo

> Matrix(2,3,3);

(b) > Matrix(2,3,shape=identity);

(¢) > Vector[row] ([1,2,3]);
> Vector(<1]2(3>):

(d) > with(LinearAlgebra):
> V:=Vector [row] ([1,2,3]);
> DiagonalMatrix(V);

e
o N O

(e) > f:= (i,j) -> x~(d+j-1):
> Matrix(2,f);

(f) > Matrix(3, [seq(i,i=1..9)1);

1 2 3
4 5 6
7 8 9
> n:=3:
> f:=(i,j)->(i-1)*n+j;
> Matrix(3,3,f);
f=0G0)mGE-1)n+j

EN NG
RS I
© o w



32 g3d oood

3.2 0000 (DotProduct,CrossProduct)

[[Po]]

0000000000000 00000000 (LinearAlgebra) DO0OO0OOOODO

\4

with(LinearAlgebra) :

3.2.1 0O000OO0OOOO

> vi:=Vector([x, y]): 3xvi;
3x
3y

3.22 U0O0,000000000000

\4

LL1 := [[1, 2], [3, 4]]: A1l := Matrix(LL1): A2 := Matrix([[x, x], [y, yl1):

3*%A1-4%A2;
3—4x 6-—4x
9—4y 12—-4y

\

3.2.3 00 (DotProduct, ‘.¢)

> vl:=Vector([1,1,3]): v2:=Vector([1,2,-1]1): v1.v2;

0
3.2.4 00 (CrossProduct, ‘&x*)
> CrossProduct(vl, v2); vl &x v2:
-7
4
1

3.25 UO00O0O300

> v3 := Vector([-1,2,1]); CrossProduct(vl,v2).v3;

16



3.2. 0000 (DotProduct,CrossProduct) 33
3.2.6 00O (Transpose, ‘&T¥)

0000 AO {00 afij 0 ajj0000
> Transpose(Al);

]

0000000000000 (Doooo0oO0)0DooooUoo

> Transpose(vl);

(11 3]
[[oo]]]

1 2 2
1. 00 A= 5

1
4 A 5]DDDDDDDDv—[21DDDDDDDDDDDDDDDDDDDD

i) A+3B,ii) A— B, iii) A+ E, iv) A.B, v) B.A, vi) A.w, vil) v.A, viil) v 0 00O (Transpose) 0 AO0ODO
00000, ix) A3

)

2.200000000000000«t000000O
> Ar:=t->Matrix([[cos(t),-sin(t)], [sin(t),cos(t)]1]1);

gboooao
))yPi/600000000O0O0OOOOOODO (1,0),(01)D00000O0O0O0OODOOUDOO

ii)Pi/6 0000000000 PI/A0D0OO00O0O0OO0O0OUOO0OUOODOODODOODOOUOOODOOOO
gbooooogoboo

3.00 A= 0000 A+ A, A-A'00000000000DO0OO00O0

~N &~ =

2
3
8

O O W

[[Poo])]

1. > with(LinearAlgebra): A:=Matrix([[1,2],[3,4]1]1); B:=Matrix([[2,31,[4,51]1);
> v:=Vector([1,2]); E:=IdentityMatrix(2);

(31



g3d oood

> A+3%B; A-B; A+E; A.B; B.A; A.v;

5
11
vii)
> v.A;
Error, (in LinearAlgebra:-VectorMatrixMultiply) invalid input:

LinearAlgebra:-VectorMatrixMultiply expects its 1st argument, v, to be of type
Vector[row] but received Vector(2, {(1) =1, (2) = 2})

v AOOOOUOOOOUOOOO0OOOO0O0OO00O0O0O0O00000OvOOO (Transpose) 00000000
gbooooooboooon

viii)
> Transpose(v) .A;

(7 10

ix)

> A°3;
37 54
81 118
)

> with(LinearAlgebra): el:=Vector([1,0]); e2:=Vector([0,1]);
> Ar:=t->Matrix([[cos(t),-sin(t)], [sin(t),cos(t)]1]); Ar(Pi/6).el; Ar(Pi/6) .e2;



3.2. 0000 (DotProduct,CrossProduct)

el =

ii.)200000000000

> Ar(Pi/4) .Ar(Pi/6);
> Ar(Pi/6+Pi/4);

1/4v2V3 —1/4v2 —1/4V/2 —1/4/2V/3
1/4V2V3+1/4v2  1/4v2V3 —1/42
l cos (%71’) —sin (%7‘(’) ]

sin () cos (L)

20000000 evalf0OODOOO 0, 00000000000O0O000O00O00O00

> evalf (Ar(Pi/6+Pi/4)-Ar(Pi/6) .Ar(Pi/4));

—0.0000000002000000000 0.0
0.0 —0.0000000002000000000

3. > A:=Matrix([[1,2,3],[4,5,6],[7,8,9]1]1); As:=A+Transpose(A); Aa:=A-Transpose(4);

1 2 3
A = 4 5 6
7 8 9
[ 2 6 10 ]
As = 6 10 14
| 10 14 18
[0 —2 —4 ]
Aa = 2 0 =2
4 2 0 |

35



36 g3d oood

3.3 00000000 OODODO (LUDecomposition)

[[Po]]

0000000000000 0000O0000 (LinearAlgebra) D000 OO0OOO

> with(LinearAlgebra):

3.3.1 0O040OoOoboOo

0000DO0O0O00D0O0O0O00O00DO0OOOd RowOperation, ColumnOperation 0 0 00O

3.3.2 00OO0O0ODOLUODO (LUDecomposition)
O0000000000OLUDecomposition0 00000 0OOOOOOOOOOOO

> A1:=<1,2;3,4>; b:=<2,3>; <Al|b>;

1 2 2
3 4 3

000 LUO0O0O000000O000 P(permutationd 00 ), L(lower triangled O 0O O ), U(upper triangled O O

0)0000000000
10 1 0 1 2 2
0 1] 3 1|’]0o —2 -3

000000000 (row reduced echelonmatrix; 0 000 0000000000000 0O0OO)000000OO
outpwt="R’O000000

> P,L,U:=LUDecomposition(<Al|Db>);

P LU :=

> LUDecomposition(<Al|b>, output=’R’);
1 0 -1
0 1 3/2

3.3.3 00O (Rank)
000000000000 0000 (Rank)0O0OOOOOOOOOOOO

> Rank(A1);

[[Po]]



3.3.

1. 00 A=

000000000000 (LUDecomposition) 37

N &~ =

2 3
5 6 | 0000O0RowOperation 000000000000 OO0DODOOOOOOOODOO
8 9

00000000 LUDecomposition, Rank OO0 OOOOOO
)000o0000ooooooog

i)3000000o00ooooooo

iii)2000-1/30000

iv)30000000000000

RowOperation 00000000 inplace=false 0000000000000 true0 0000

.00000000000000D0D00000GGenerateMatrix 00000000000 OO00OCOODOOO

0000000000
(i)

rt+y—z =2
2z —-3y+z =4
dr —y+ 3z
(i)
2z + 4y — 32

3r —8y+6z =58
r—2y—9z =23
(iii)
lx—10y —3z2—7Tu =2
20 —4dy+3z+4u = -3
rT—2y+6z+5u =-1
r+8y+92+3u =5

r+y+=z =a+b+c
ax + by + cz =ab+ bc+ ca
bcx+cay+abz = 3abe

oopooooad
r1 + 229 — 13 =0
x1 + 29 + 314 =0
T, + dr9g — 223 +3x4 =0
T, +3rg — 223 —3x4 =0

Osolve 00000, x0,23,24 DOO0DOOO0O0O GenerateMatrix 000000000 DOOOODOO
LUDecomposition 0 0000000000000 OOOOO

[[Poo]]

1. > A:=Matrix([[1,2,3],[4,5,6],[7,8,9]1]); with(LinearAlgebra): 7RowOperation;

1 2 3
A:=14 5 6
7 8 9

gboooobooooboboooooboooooaon

> RowOperation(4,[2,1],-4);



38 g3d oood

1 2 3
0 -3 -6
7 8 9

00000000 (A)DOO0O00O0 option(inplace=true) 00 000000000000 OOOOOOO
obooooooboobooooa

> RowOperation(4, [3,1],-7,inplace=true);

1 2 3
0 -3 -6
0 —6 -—12
> RowOperation(A,2,-1/3,inplace=true);
1 2 3
0 1 2
0 —6 —12
> RowOperation(4, [3,2],6);
1 2 3
01 2
0 0 O

LUDecomposition 00 O0O00O0O0O0O00OO

> A0:=Matrix([[1,2,3],[4,5,6],[7,8,9]11):
> LUDecomposition(A0);

100 1 00 1 2 3

01 0(,]41O0|,]0 =3 —6

0 0 1 7T 2 1 0 O 0
ooooooobooooOoOOoOoODOoOOODO 20000RakOOOOOO

> Rank(A);

2. 1) GenerateMatrix 00 0000000000000 O00O0OO0OOOOOOOOOO

> eqs:={x+y-z=2,2%x-3%y+z=4,4xx-y+3*z=1}; GenerateMatrix(eqgs,{x,y,z});

eqs = {x+y—2=22x—-3y+z=44x—y+3z=1}
1 1 -1 2
2 -3 1 , | 4
4 -1 3 1



3.3.

000000000000 (LUDecomposition)

> A:= Matrix([[lal’_]-]:[2’_3,1]:[4,_1;3]]); b:=<2’4!1>;
> LUDecomposition(<A|b>,output="R’);

—_

ii)

> A:= Matrix([[2,4,—3],[3,‘8:6],[8,‘2:_9]])§ b:=<1’5’_23>;
> LUDecomposition(<A|b>,output=’R’);

2 4 -3
A=13 -8 6
8 -2 -9
1
b = 5
—23
1 0 0 1
01 0 2
00 1 3

iii)

> A:= Matrix([[l,‘lo,—3,—7],[2,—4,3,4],[3,‘2,6,5],[1,8,9,3]])§ b:=<2’_3’_1’5>;
> LUDecomposition(<A|b>,output="R’);

1 -10 -3 -7
2 -4 3 4
A =
3 -2 6 5
1 8 9 3
2
-3
b=
-1
5
1 0 0 0 1
01 0 0 1/2
001 0 1/3
00 0 1 -1

iv)

39



40 g3d

> restart; with(LinearAlgebra): A:= Matrix([[1,1,1],[a,b,c], [b*c,c*a,axb]]);
> bb:=<a+b+c,a*b+b*c+c*a,3*a*xbxc>; RR:=LUDecomposition(<A|bb>,output=’R’);

1 1 1
A=1|a b ¢

bc ca ab

a+b+ec
bb == | ab+bc+ca
3 abc

a(b272 bc+cz)
(@=b)(a—0)
(a272 ca+02)b
B=o)(a=b)
6(72 ab+b2+a2)
ab—bc+c2—ca

=
=
i
o =
—= O
o O

o
o
—

> factor(Column(RR,4) [1]);

gbobooobobobooboooooobo

a(b—rc)?
(a—=0b)(a—c)

> eqgs:={x1+2*x2-x3=0,x1+x2+3%x4=0, 3*x1+5*x2-2*x3+3*x4=0,x1+3*x2-2*x3-3*x4=01};
> solve(egs,{x1,x2,x3,x4});

eqs = {xl +22+324 =0,21 +222 — 25 =0,
xl +3x2 —223 —3x4 =0,321 +522 — 2123 + 3/ =0}
{1 = —62f — 28,22 =3xf + 28,28 = 23,2} = z/}

> Al,b:=GenerateMatrix(eqs, [x1,x2,x3,x4]);
> LUDecomposition(<A1l|b>,output="R’);

11 0 3 0
Al b= 1 2 -1 0 ’ 0
1 3 -2 =3 0
3 5 -2 3 0
1 1 6 0
01 -1 -3 0
0 0 O 0 0
0 0 O 0 O

oood



3.4. 000 (MatrixInverse)

3.4 000 (MatrixInverse)

[[Po]]

0000000000000 00000000 (LinearAlgebra) D000 OOOOO

> with(LinearAlgebra):

3.4.1 000 (Determinant)

> A0 := Matrix([[x,y],[z,ul]); Determinant (AO);

3.4.2 000 (MatrixInverse)

> A2:=MatrixInverse(AO); simplify(A0.A2);

u __Y
A2 = [ TU—YZ TU—YZ ‘|

__ =z T
TU—YZ TU—YZ

N

3.4.3 UO0O0OOODO

00 (Adjeint) 000 O0O00O0ODOO0OOOOOOOOOOOOO

[[Po]]

1. 000000Oo00o0oooooooooooo
(i)
T+y—z =2
2r—-3y+2z =4
dr—y+3z =1

2x4+4y—3z =1

3r —8y+6z =58

r—2y—9z =23

(iii)

lr =10y —3z2—7Tu =2
20 —4y+3z2+4u =3
r—2y+6z2+5u =-1
r+8y+92+3u =5

41



42

030
(iv)

T+y+=z =a+b+c
ax + by + cz =ab+ bc+ ca
bcx+cay+abz = 3abc

2. 00000000DOOO000DOOO000DOOOODOOOObPODOOOOODOOOO

[[Poo])]

1. > with(LinearAlgebra): eqs:={x+y-z=2,2*%x-3*y+z=4,4*x-y+3xz=1};
> A,b:=GenerateMatrix(eqs,{x,y,z}); Determinant(A);

eqs = {x+y—2=22x-3y+z=4,4x—y+3z=1}

1 1 -1 2
Ab=12 -3 1 s | 4
4 -1 3 1

—20

2. > MatrixInverse(A); simplify(MatrixInverse(A).b);

2/5 1/10 1/10
1/10 - &
-1/2 —1/4 1/4

13
10
_21

20

—7/4

oood



3.5. 000 (EigenVectors) 43

3.5 000 (EigenVectors)

[[Po]]

0000000000000 00000000 (LinearAlgebra) D000 OO0OOO

> with(LinearAlgebra):

3.5.1 000 (EigenVectors)

000 (Eigenvalues) 000000000000 0O0OO Eigenvectors 010000000000 0OOOOOOOO
o000 lvOoOoDoooooo

> A0 := Matrix(2, 2, [[1,2], [2,1]]); 1,v:=Eigenvectors(A0);

o [21]
e

3.5.2 00000000000 (Column)

oo0ooo0oOoOoOoOoOoOOOO0OO0 Collumn 000000000000 O0O0O0O0O000O0O0OODOODOOOO

]

0000000000 ()0000000 (v)000

> Column(v,1);

Agv=Awv
ooooooo

> A0.Column(v,1); 1[1]*Column(v,1);

3.5.3 0000000000 (Normalize)
ooooobooooooboooood

> 7?Normalize;

goodobbobbooooobobobboooooobbobooooogo

> Normalize(Column(v,1),Euclidean);

—1/2V2
1/22



44 g3d oood

3.54 000

goooboooobooboboooooboooooaon

]

g0000O000oo0o00DCsimplify00000000DOOO0OO0ODOOOOODOOOODO

> MatrixInverse(v).AO0.v;

3.5.5 UUOOOOO

000 (Trace)D00000000 (JordanForm) 000000000000 O0OOOOOOOOOOO

[[Po]]

1. 00
1 -2 1
A= -1 2 1
1 2 1
gbooooooooad
|A—\E| =0

O0O00OO00O0OOEigenVectors 0000 0000D0O0O00OD0DO0ODO0OOODOO0OOOOODOOOOODO
Av=M
0o0D0O0o0obOOooOoOOooOoOOoDOOoOobOO0Oo 10000000

2. 00

\V]

A:

= O
S w O
N O

ooobDoooooo pPODOOOOODOOOO

[[Poo]]

1. > A:=Matrix([[1,-2,1],[-1,2,1],[1,2,1]]); E:=Matrix(3,3,shape=identity):

> eq:=Determinant (A-x*E); solve(eq,x);

1 -2 1
A=1] -1 2 1
1 2 1

eq = 4x? —23 -8

2,14+v5,1-5

> 1,v:=Eigenvectors(A); vl:=Column(v,3); evalf(A.vl); evalf(1[3].v1);

> Normalize(vl,Euclidean); evalf(Normalize(vl,Euclidean));



3.5.

000 (EigenVectors)

—5+35 —5-3+/5

= —_ —5+5 —5-5
Lo: 1-V5 |, T 5436 T 535

2 1 1

VE+ 1 (vV5-3)v5 (=3-v5)V5

vl = 0

[ 2.0 ]
0.0
2.0
[ 2.0
0.0
| 2.0 |
/22
0
1/22

0.7071067810
0.0
0.7071067810

2. > A:=Matrix([[2,0,1],[0,3,0],[1,0,2]1]1); 1,v:=Eigenvectors(A);

> MatrixInverse(v) .A.v;

0 1

A = 30

1 0 2
3 0 -1
Lv:=131],]101 0
1 1 0 1

o O W
o W O
= O O

0
1

45

(3.1)






040 OO0

4.1 00000OO0OO0OODO (EquationManipulationTable)

[[Po]]

47

gbobobooboboooooboboboboboboboboooboobobobobobooooboobo
O000000 exp0OO000DOOO0DOOOOODDOOODOOMapled0D00O0OO0O0O0ODOO0ODOOODODOOO
gboocboooooooooooboobobobobobooboooooooobooboobobobobobooboon
ubodgbuooboooboobobobobbobbobooboobooboobooboooboabo

O 41: 000000000000000

oooo oooooo oooooogd oooooogo
simplify:0 O O lhs, ths:0 00 00O m:000o00 subs:0 0 OO0
expand:[0 O numer, denom:0 0000  seq:for-loop 000 00O restart,a:="a’:00 0 0

factor:0 0 0 O
normal:0 0000
combine:0 000000
collect:0 00 0O ODONO
sort:0 000000
rationalize:0 0 O O OO
convert:00 0 0 00O

coeff:0 O

nops, op

map:0 00000000
addmul:0 00000
sum,product:0 000000000
limit:0 O

assume: [

assuming:0 0 000
assign:0J 0 0O 0O

about:0 0000
anames(’user’):0 0000

00O0D0000solve(d), diff(00), int(00)dseries(0000)0000000000000000000



48 040

4.2 00000O0O000D0O0OODOO (Simplify)

[[Po]]

4.2.1 000 (simplify)
g

> simplify(expl, ODOOO):
> simplify (3*x+4*x+2xy) ;

Tx+2y

> expl:=3*sin(x) "3-sin(x)*cos(x)"2;
> simplify(expl);
expl := 3 (sin(z))* — sin (z) (cos (z))*

- (4 (cos ()% — 3) sin (z)

> simplify(expl,{cos(x)"2=1-sin(x)"2});
4 (sin (z))® — sin ()
00000000 size0000O000ODODOOOODOOOODOO

> simplify(expl,size):

4.2.2 00 (expand)
g
> expand ((x+y) ~2);

2+ 2ay +y°

4.2.3 0000 (factor)
g

> factor (4*x"2-6*x*y+2%y~2) ;

22z —y)(z—y)

ooo



42, 00O0OO0OOO0OOOOOOO (Simplify)

4.24 00000 (normal)
g

> normal ((x+y)/(x"2-3*x*y-4%y~2));

r—4y

> normal (1/x+1/y);

Y+
Ty

4.2.5 0O000O0O0OOOooOO (CO]leCt)
O
> collect (4*ax*xx"2-3%y 2/x+B*bxx*y+3*C*y+2%y~2,y) ;

(=327 +2)y* + (6bx +3c)y + 4az”

4.26 000000000 (combine)
O
> combine(sin(x) "2+3*cos(x)"2);

2+ cos (22)

4.2.7 0000000 (sort)
a

> sort(expl, [x,y]);
> sort(expl, [x],opts);
opts=tdeg(0 O 0ODO), plex(OOOO), ascending(dO), descending(O )

> expl:=x"3+4*x-3*x"2+1:

> sort(expl);

22 =322 +4x+1

> sort(expl, [x],ascending);

1+4z—32%2+2°

49



50 040

> exp2:=x"3-akx*ky+4xx"2+y~2:

> sort(exp2);

—azy + 2 + 422 4+ ¢

> sort(exp2, [x]);

23 + 422 — ayx + o>

> sort(exp2, [a,y]);
> sort(exp2, [a] ,plex);

—zay + y? + 2® + 422
—zya + 23 + 422 4 o>

4.2.8 000000 (rationalize)
g
> eql:=(1+sqrt(2))/(1-sqrt(3));

gbooobooobooboo

gbooooooooon

> rationalize(eql);

~1/2 (1 +ﬁ) (1+ \/5)

[[Po]]

1. 0boboboooooog
i) 2100 — 1) 22 — y? + 22 + 1, iii) (a+b+¢)® — (a® + b3 + 3)

[[Poo]]

> factor(x~100-1);

(-1 (1+a'+2°+2°+2) (1+ 2% + 2" + 2" 4+ 2°)
(I4+z)(1-—z+2* 2> +2") (1 —2° +2'° — 2" + 2°°)
(1+22) (a® =20 + 2 — 22 + 1) (290 — 2% 4 220 — 210 1 1)

> factor( x"2-y~"2+2*x+1);

(z+1+4+y)(x+1-—y)

> factor((a+b+c) "3-(a"3+b"3+c"3));

3 (b+c)(c+a)(a+b)

ooo



43. 000000 (convert)

4.3 000000 (convert)

[[Po]]

4.3.1 00000 (convert(expl,opt))

obooobOobooooobooooogoo

opt od

polynom | 000000 (polynomial) O
trig 0000 (trigonal) O

sincos tan 0 0 0 0O 0O O sin,cos U
exp goooooo

parfrac 0000 (partial fraction) O
rational gooobbobooooon

> sl:=series(sin(x),x,4);

> convert(sl,polynom) ;

> convert(sin(x),exp);

—% I (exp(Iz) — exp(—Iz))

> convert(sinh(x),exp);

> convert(tan(x),sincos);

> convert (exp(I*x),trig);

cos (x) 4 I'sin (z)

> convert(1/(x-1)/(x+3) ,parfrac);

f(z+3)  4(@-1)

> convert(3.14,rational);

157
50



92

4.3.2 00000 (lhs, rhs)
00000000000 0000 left hand side, right hand side O O
> lhs(sin(x)"2=1-1/%);

> rhs(sin(x) "2=1-1/x);

sin (z)?

K| =

4.3.3 00000 (denom,numer)
O000000D00000D0DO00O00 denominator, numerator 0 O
> numer (a*x/ (x+y) "3);

> denom(axx/ (x+y) ~3);

axr

(z+y)°

4.3.4 00 (coeff)
g

> coeff (4*a*xx™2-3%y~2/x+6*bkx*xy+3kckxy+2xy~2,y"2) ;

3
—Z 42
xr

43,5 00000O0O0O00OOO (op, nops)

040 00O

op, nops 0 list 000 O0DOO0O00DOOOO0ODOOOOOO0O0DOOO0OOOOOOOOOOOOOOOOODO

ooooooooooooooo
> op(4*axx~2-3xy~2/x+6*b*xx*ky+3*xCky+2%y~2) ;

3 2
4az?, —%, 6 bxy, 3cy, 21>

> nops (4*a*xx"2-3%y"2/x+6%b*x*y+3*cky+2%xy~2); #res: 5

[[Po]]

1. 000000 x00000 3000000000000 00O00ObO0O0O0O0O0OO0ObOO0ObOOOOO0O0ObOOn

gobooboboobooboood

i)y=cos(z),z0 =0,ii) y =In(z),z0 = 1, iii)) y = exp (—z), 20 =0



43. 000000 (convert) 53

1
2, %DDDDDDDDDDD
-

1 a b c
. = goooooo b,eOOOOO
3 1—z4 x2+1+x—|—1+x—1 @ % C

L8 2
" 3-v5 2+.5

5. 2°4+2kx+5-k=0000000000 k00000

[[Poo]]

1. series 0 Taylor 0000 OO convert 0O 00 (polynom) J00000O

goooooo

> convert (series(cos(x),x),polynom) ;

> plot([convert(series(cos(x),x),polynom),cos(x)],x=-Pi..Pi);

1 1 1 1
1_7 2 o 4_7 6 I .
5 T T 70" Ta320”

b T T T T d
- 3 n T T 3n T
-1 x

Ubo00o0bO00O0Oseries0000000DOO0OO0OOCODOOOOODOOOO 60O00O0DOOOOODOOO
gboooooboooon

convert(series(cos(x),x,9),polynom) ;

plot([convert(series(cos(x),x,9),polynom),cos(x)],x=-Pi..Pi);

a
el
©)a
L]
>
O
ISER
= o)a
ad

series00000O0x=10000000000000000
> convert(series(1n(x),x=1),polynom) ;

1 1 1 1
x—1—§(x—1)2+g(x—1)3—1(x—1)4+5(x—1)5

> plot([convert(series(1n(x),x=1),polynom),Iln(x)],x=0..2);



54

U
L N

> convert(series(exp(-x),x),polynom) ;

1 1 1
1_ L2 4t .3, 1 4
m—|—2x 6x +24x

> plot([convert(series(exp(-x),x),polynom),exp(-x)],x=0..2);

1.0

0.7
0.5
0.3
0.1 1

1 5
T 120"

2. > restart; eql:=(x+1)/((x-1)*(x"2+1)"2);
z+1

eql =

> convert(eql,parfrac);

(x—1) (22 +1)°

1 B T n 1 —x—1
2(x—1) (2241 222+1
3. > convert(1/(1-x"4) ,parfrac);
1 . 1 . 1
4(x—1) 4(@x+1) 2 (@2+1)
4. > eq2:=8/(3-sqrt(5))-2/(2+sqrt(5));
2 8 2
eq? = —
T35 2445

000000000000 (simplify)O

> simplify(eq2); #res: 10

5. Jbooogonoo

> eq3:=x"2+2xk*x+(5-k) ;

eq3 = 22 +2kr+5—k

goboooooao

040

ooo



000000 (convert)
> soll:=solve(eq3=0,x%);

soll .= —k+Vk2—-5+k —k—VEk2—-5+k

ooopoooOoooo koOoOoo

> solve(soll[1]=s0l11[2],k);

11 11
— S+ 2VRL, -2 = 2V
p T Veh Ty

O00O000O000 coeftdnooon

> aa:=coeff(eq3,x"2); #res:1
> bb:=coeff(eq3,x); #res: 2 k
> cc:=coeff(eq3,x,0); #res: 5 - k

000 D=V —-4ec000000=00000 k0000000
> solve(bb~2-4*aa*cc=0,k);

11 11
— S+ 2VRL, -2 = 2V
g T VEh T3



96 040 000

44 00000O0O00O0DOOOOOO0O (assume, subs)

[[Po]]

4.4.1 00000 (subs)
0000 (x=2)00 (expl) 000 000000000000

> expl:=x"2-4*x*xy+4; subs(x=2,expl);

expl = x°> —4dxy+4
8 —8y

> subs({x=a+2,y=sin(x)},expl) ;

(a+2)* —4 (a+2)sin(z) + 4

4.4.2 00O (assume)
goboobgooboobobobooboooboobobboboboobooboobooboobobboboo

> sqrt(b”2);
> assume(a>0); sqrt(a”2);

4.4.3 00000 (assuming)
Oassume 000000000000 O0OC0ODOOOCOOOO

> expl:=x"2-4*x+4;

> sqrt(expl);

expl = z®> —4dzx+4

(—2+ x)2

> sqrt(expl) assuming x>2;

—24+=x

assume J 0000000 additionally 0 00O



44. D0O0O0O0OOOOODODOOOOOOO (assume, subs)

4.4.4 solve0OO0OOODODO (assign)
O000D0O solveO OO

> x:i=xyi="y
> sl:=solve({x-y+1=0,x+y-2=0},{x,y});

gdbdixydboooooaoo

> X,V
T,y
000000000s10 assign(00)000O0O
> assign(sl);
> X,¥;
13
2'2

g00DbO000o0o0oO00subsODO0O0DOO

4.4.5 assumeJ 000000000 (about)
g
> about (a);

Originally a, renamed a”:

is assumed to be: RealRange(Open(0),infinity)

4.4.6 0000000000000 (anames(’user’))
g
> anames(’user’);

sl,y, z, a

4.4.7 00000 (restart,a:=’a’)

O

o7
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448 00000 ()

gooobooooooboooobooboo

> alll; #res: al

> allb; #res: ab
000000000o0o00o0oOooon

> for i from 1 to 3 do

alli:=1i"2;

end do;
al:=1
a2 =
ad =
4.4.9 for-loopU 0000 (seq)
UooobbD0O sequence U OO
> seq(k,k=4..7);
4,5,6,7

4410 0O00O0OO0O0O0OOOOOOOO (map)

O

> fi=x->exp(-x);
> map(f,[0,1,2,3]);

f = x— exp(—x)

[1,exp(—1), exp(—2), exp(—3)]

O00oo0ooo0oooooooooooobooooooooono
> map(sin, [seq(thetal |1,i=0..3)]);

[sin (60) ,sin (61),sin (02),sin (03)]

4.4.11 000000 (add,mul)

a
> add(x"1,i=0..3);

14z +a22+2°

> mul(x~i,i=0..3);

040 00O



44. D0O0O0O0OOOOODODOOOOOOO (assume, subs)

44.12 000000O0O0OOO (sum,product)
g

> add(x"i,i=0..n);
Error, unable to execute add

> sum(x"i,i=0..n);

> product(x~i,i=0..n);

4.4.13 00 (limit)

O

Vv

limit(exp(-x),x=infinity); #res: O

> limit(tan(x),x=Pi/2);
undefined
> limit (tan(x),x=Pi/2,left);
> limit(tan(x),x=Pi/2,complex) ;
0

—o0 + ool

99



60 040 000

4.5 0000000 (BottomLine)

[[Po]]

oboooooooooobooboboboobooboooboobooboobOobobobooobooooooon
goboobooooooooboooooboobooobbooobooobboobboobooobDoooDoboooboooOoo
gobooobobooooooobooboboobooooobooobobooooboobooooooboobooooaon
oboooboooobooboooooboooobooboooobooon

4.5.1 OO0

MapleOOOOODOOOOODOOOOODOOOODOOOODOOOOODOOOODOOOODOODOOOO

O0O0O0Orestart D000 OOOOO00OOODOOOCOOOOOOOOOOOOOCOOOOOOOOOOODOOOO
O00000OOOrestart; 0000000000 DOOODODOO0O0OOOOOODODOOOOOOOOOOODOOO
OO0 recurn00000O0O

ooooboobob0 obobooboboooboboobobobDOoobOobDobooobooboboooboo
gooobooboooboooobobobouooboooboooobobooobobbooboobooboog
print O OO OO

0000oO0O0o00DOo0o00D0 Doooooooo0oO0ooooDoo0oO0oOooooooOoOoOoOooOpletd
gbooooboobooooboobooobo

> plot(f(x),x);

Warning, unable to evaluate the function to numeric values in the region; see

the plotting command’s help page to ensure the calling sequence is correct

O00000000000ODODO OO0O0O for-loop000000CODOO0OO0O0OOmMOOOOOOODOOOOO
gbooobooobooobooboboobooboooobobobooooobOOooboOoobOOoobboooboOoOooog

4.5.2 0O0O00OO0OOOO

oooooobooooooo
/ zexp(—fex?) (1—|—ﬁgm3) dx

O000 MapleOODOOOOOOOOOOOOOODOOOODOODOOODOODOO
> f1:=unapply (x*exp(-beta*xc*x~2)*(1+betakxgxx~3) ,x);

fl == x> xexp(fﬂcxz) (1 + 59I3)

> int(£1(x) ,x=-infinity..infinity);

3 gym
_—_—— ) = 1
4 Bc2\/cB csgn (ch)

%) otherwise

000D00¢300000 (esgn(betac)=1)00000000 (otherwise) I0000000000000000
000000000000000000 Maple00OOO0000000000000000000000000
000000000000000000000000000000000000000000000000000
000000000000000000

00000000000 restart 000000000000



45, 0000000 (BottomLine) 61

> restart; f1:=unapply(x*exp(-beta*c*x~2)*(1+beta*g*x~3),x);

f1 =z zexp(—Bca’®) (1+ B ga®)

gooooboooboooooooobbooboo0oobDOoobbooooboooDooOoO pletdDooDOooDO

> plot(f1(x),x=-10..10);

Warning, unable to evaluate the function to numeric values in the region; see

the plotting command’s help page to ensure the calling sequence is correct
gboobuooboobooobooobooog
> £1(10);

10 exp(—100¢B) (1 + 1000 8 g)

beta,c,s 00D 00000 0OOOOOODOODOO0ODOO0ODOODOOODOOOOOOO
> c:=1; g:=0.01; beta:=0.1; #res:1 0.01 0.1
Ooo0ooooooon

> plot(f1(x),x=-10..10);

booooooobooboobobobobooooooobobOobobobobooboooboooOoooooboon
gboocooooooobooboobobobobooboobooobooooooooooobooboboboboooon
oooooooo

> c:=’c’: g:="g’:beta:="beta’:
ooooboooobooboooooboooono

> int(f1(x),x);

1 1 1 2%exp(—cBz?) 3 1 wexp(—cfz?) 1 merf(VeBx)\ |
2exp(cﬁx2)6c+ﬂg<2cﬁ+2 <2 G "1 ey )¢

00 x=-alpha..alpha 00 0000000000000 O0OOOOCOOOOOOOODODOOOO

> int(f1(x) ,x=-alpha. .alpha);

1 g (408 exp(—cBa?)Bey/cB + 6 exp(—ch a®)Veh — 3 /merf (VeBa))
4 Be2/cB
O00 a—ocoOOOQoog

> limit (int(£1(x),x=-alpha. .alpha),alpha=infinity);



62 040 00O

1 g (40% exp(—cBa2)Bev/aB + 6 exp(—cBa?)y/aB — 3 y/er f (V/eBa))

lim —-—

anoo 1 BB

ooooooooooogoooooooooooooooooooOoOoOoonD pe>oooooobooboboDoOO
Ub00000assume 0000000000000 O0ODOO0OO

> assume (beta*xc>0) ;
o00o0oooODooooooooog

> limit (int(£1(x),x=-alpha..alpha),alpha=infinity);

3 7y
4 Bc2\/Be

4.5.3 0OD0OOO0OO0O0OOOOOO00

MapleOODODOOOOOOOOOOOODDODOOOODODODOOOOOOOOOOODOOOOODODOOOOOO
000()O0O0O0 (2)000000000000000000000O00000UL0000O0D0OUOOO0o
gboocooooooboobooboboboboboobooooooooooooooboobOobOobOobobooboon
O000D0OO000DOO0o0O000OO0O00DbO0O00DO0O0D expand0 0000 OOODOOOO

> exl:=(x-3)"4;

exl = (z—3)*

> ex2:=x"4-12*%x"3+54*x"2-108*x+81;

ex? = z* — 1222 + 5422 — 108z + 81

> expand(exl-ex2); #res: 0

obooboOoboboobOoOoboOoOobOoOoobDOoobOoUobOOoOobOO0obOoOobOo0oDOo0oDbDOoobDOoOoOoDOo
gboocooooooboooooboobobobobobobooooooooooooobobobobobooooo
0000000000000 00O0O00D0OO0OO0OevalbO OO0

> evalb(expand(exl-ex2)=0); #res: true



4.6. 000000 I(CenterExaml) 63

4.6 0000O0OO I(CenterExaml)

E{LDDDDH}DDDDDDDDDDDDDDDDDDDDDD obooooooooobobobooooooon
oo0O0ODODOO0OO00000000ooooOOODODODOOO000000000OOODbOOODDOunapply, solve,
diff, expand(0 0O ), factor(0 000 )0 subs(D0OO0D00)0000expand 00000000 0D0O0O0OODOOODO
000000000000 00subs00D00O0O00ODOO

4.6.1 0O0O0O0OO (subs)
00 ((=)000000000000000000 subsOOOO
> subs(a=1,a+2); #res: 3

O0000000OOsolveD0O0OO0OOO0OO (equation) 000000000000 OO subsOO0OOOOOO
ooo

> eql:=a=solve(a+b=0,a); subs(eql,a+2);

[[Po]]

4.6.2 0O0O:2000000

¢, b00000,a<>000002000
y=ax?—bx—a+b---(1)
000000 (-2,6)000000.0000

bz—cH—EI

ooo,0000000000«0000000

~oi[5] (E]e-[E]
ENC ENC

000 (2008 0000000000000 0OI1I00OO0O).

ood
0000000020000 f(z)DDOO0O0O0OO
> restart; f:=unapply(a*x”2-b*x-a+b,x);
fi=xz—a2®>—br—a+b
goodooooboooooooog

> eql:=£f(-2)=6;



64 040
eql == 3a+3b=6
ooobOOOOOOO
> eq2:=b=solve(eql,b);
eq2 .=b=2—a
goooooooooooobooopoppooobooooooo

> solve(diff (f(x),x)=0,x);
10
2a
bOOOeq200000D0OODOOOOOODOO (SubS)DDD

> subs(eq2,solve(diff (f(x),x)=0,x));

b0 x0000eq30000O0O0OODO

> eq3:=x0=subs(eq2,solve(diff (£f(x),x)=0,x));
2—a
a

N | —

eqd = 20 =
000 yOOOOf(z0)ODD0OO
> f(x0);

az0®—bz0 —a+b

eq2, eq30 000000 x0,b00D0D000

> eq4:=subs({eq2,eq3},f(x0));

eq) = —i (2 a)2 —2a+2
0000000 (factor) OO
> factor(subs({eq2,eq3},£(x0)));
1 (3a-2)°
4 a

[[Po]]

1. P=2(z+3)(2r—3)0000000e¢0000000z=a+10000 POODO

2a3+| 0 |a2+| a |a—| a |

obooo
r=a+10000 POODOz=e0000 POOOOOOODOOOODODOOODO

st [T -[F]-0

gboooooobooo

a:| 0o |ﬁ:\/|DD |

EN

ggo.

ooo



4.6. 000000 I(CenterExaml) 65

2. 000000000000 U00O002000 (1)00000U0O0O0yOOO0-2000000000000a0

EIGEEEIEEIET

gboooboboobobatdno

-
5

g
gogbodbUa= googoooog

O

ooooo2000 (1)DDDDDDDDxDDDEIDDDD(l)DDDDDXDD 2000 xO000

[0 ][0 pooo

00000 ()0 0290000

=0 |poooooo[ oo jpooo
xZEDDDDDDD e

O
(2008 00000000000 OOOIOOOO).

[[Poo])]

1. PO 2000000000

> restart:

> P:=unapply (x* (x+3)* (2*xx-3) ,x) ;

P:=zxw—z(x+3)(2z-3)

Pla+1)000 Ple)DOOOOODOOOO
> expand(P(a+1)), expand(P(a));
2a°+9a>+3a—-4,2a>+3a>—-9a
20000000
> eql:=(expand(P(a+1))-expand(P(a)))/2;
eql = 3a®>+6a—2
000000000 200000000000 eql000000O0eql=00 xO00000O00O (solve).

> soll:=solve(eql=0,a);

1 1
soll = —1+§\/15, —1—§v15

2. 000 eq3,eqd 00000
> eq3, eq4d;

12—a 1(2-a)
== —= —2a+2
2 a ' 4 a @t

eqd 0000 y0O0O0ODOOOODOD 20000000

z0



66 040

expand ((eq4-(-2)));

1 9
- 5_7
a+ 4a

0oo0ooob0oooobo0obobooob0obbo0bod—-4e0000egdo 0000
> eqb:=expand((eq4+2)*(-4)*a) ;

eqgh == 4—20a+9a>

000 «0000000 (solve)
> solve(eqb5=0,a);

2

Nl )

a=2/90eq3000000000 000000

> subs(a=2/9,eq3);

x0 =4
a,b0 f(zx)00000D0
> eq6:=subs({a=2/9,b=2-2/9},f(x));
2 , 16 14
eqb = §z 731’4’5
ooo0odbDzOODODOOODOO
> solve(eq6=0,x);
7,1

oo0oooo00ooo0o0oboo0o0ooooo0oooo0ooobDOpletdnooO

> plot(subs({a=2/9,b=2-2/9},f(x)),x=0..9);

-2-

O00DoO000D0000 z2=4,000 2=90

> subs({a=2/9,b=2-2/9},f(4)), subs({a=2/9,b=2-2/9},£(9));

32

-2, =
9

ooo
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5.1 CG(ComputerGraphics)

[[Po]]

5.1.1 listplot, pointplot

67

O0000000D0O0O00000 listplotDO0OOO000ODIstplot 000000 listDOO0O yODO10O
obooobob0oxbODOobooooboooooooboooooo

> T:=[seq(exp(-1),i=0..5)];
> listplot(T);

T := [1,exp(—1),exp(—2), exp(—3), exp(—4), exp(—5)]

000000 option0OOODO point OO OO

> listplot(T,style=point):

000000000 x0O0 1,23, 000000000002000 Lstlist 0000000 [i],y[i]jO0COCO

pointplot 00000000

> T:=[seq([i/2,exp(-i/2)],i=0..6)];
> pointplot(T,symbol=circle,symbolsize=20);

[[07 1}7 [1/27 eXp(_1/2)]a [17 eXp(_]-)L [3/27 eXp(_3/2)]a
(2, exp(—2)], [5/2, exp(—=5/2)], [3, exp(—3)]]

1.0§

0.7
0.51
0.3

0.1 o
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listplot 0O O0O0DOCOCO0O00D0COO0OO0D0OOO0DO optiond00OO

> pointplot(T,connect=true):

5.1.2 00000

0000000000000 00000oDOOO0O0000oooDOODOOplottoolsODOODODO disk, arrow O O
0000000000D000000000000000 (plotssO00O plottools) O withOOOOODOOOO

> restart; with(plots):with(plottools):

00 A=

2
) ] 00000 ag(1,2)0 ai1(5,4) 00000000 (LinearAlgebra 0 O 00

> with(LinearAlgebra): A:=Matrix([[1,2],[2,1]]1): a0:=Vector([1,2]): al:=A.a0;

[

00000000000000000 list000 (convert) 000

> pO:=convert(al,list) :pl:=convert(al,list):

O0p000 (disk) D00 02,0000000000000 pl0O00 020000 diskO000O0O
> pointl:=[disk(p0,0.2,color=red) ,disk(pl,0.2,color=blue)]:

O0000p000 plOD0OO0OD (arrow) 000000000000 DOODOODO0OOOOODOOOODOOOOO
gooono

> linel:=arrow(p0,p1,0.05,0.3,0.1):
0000000000 (display)D0OOO0O0ODO0OO0OODO 0..6,0.60000

> display(pointl,linel,view=[0..6,0..6],gridlines=true);

ap(1,2)00000a(5,4)0000000000O0O0OOOOOODO



5.1. CG(ComputerGraphics)

5.1.3 0000
gbobooboooobooboooooboooon

> Matrix([[cos(theta),sin(theta)], [-sin(theta),cos(theta)]]);
cos(f) sin(0)
—sin(6) cos(0)
O000000000000000o

> A:=t->Matrix([[cos(t),sin(t)], [-sin(t),cos(t)]1]);
Ao pey | 8 (t) sin(t)
—sin(t) cos(t)
t0000 (Pi/3) 0000000

> a0:=Vector([3,0]);
> al:=A(Pi/3) .a0;

oooobooogobooon

> pO:=convert(al,list):pl:=convert(al,list):

> pointl:=[disk(p0,0.2,color=red) ,disk(pl,0.2,color=blue)]:
> linel:=arrow(p0,p1,0.05,0.3,0.1):

> display(pointl,linel,view=[-4..4,-4..4],gridlines=true);

=

4 3 2 : /l’*j
/

w

ES

5.14 0O000O0O0DOO
oooobobooobooboooobooboooobOobooooobobooooOobooonoo

> restart; with(plots): with(plottools):
p:=[[0,0,0],[1,0,0],[1,1,0],[0,1,0],
o,o0,11,[1,0,11,[1,1,1],[0,1,1]]:

00000 pointplot3d DO OO0O0ODODO
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> points:= { seq(p[i],i=1..8) }:
> pointplot3d(points,symbol=circle,symbolsize=40,color=black);

DDDDDDDDDDDDDDDDDDDDDDDDDDp[l]D p[Q]DDDDDDDDDDD
> line(p[1],p[2]);
0000000 seqO0O000O0OOOOOO0O

> 11:=[[1,2],([2,3],(3,4],[4,1],[1,5],([2,6],(3,7],[4,8],
> [5,61,[6,71,[7,8]1,[8,51]:
> lines:=[seq(line(p[11[i][1]],p[11[i][2]]),i=1..nops(11))]:

> display(lines,scaling=constrained,color=black) ;

— [

<>

> 13:=display(lines,scaling=constrained,color=black):
> p3:=pointplot3d(p,symbol=circle,symbolsize=40,color=black):
> display([p3,13],scaling=constrained,color=black);

OO00o0oOo0o0oDObOO0o0oooooboOMapled00O0O0O0OOO0O0ODOOOOOOOOOOOOOODOOODODOO
g30obooobobobooboboooboboobooboboboooboooon
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5.1.5 00O
goooboooobooboooon

> proj2d:=proc(x,z)
local x1,y1;
x1:=x[1]*z/(z-x[3]);
yl:=x[2]*z/(z-x[3]);
return [x1,y1];

end proc:

z00000000000x0000000O000O00O0O0O0 xlyljOOODODOODOOOOOODOOOO
uboooboooobooooooooboo

> z_p:=-8:

lines:=[seq(line(proj2d(p[11[i]l [1]1],z_p), proj2d(p[11[il[2]],z_p)), i=1..nops(11))]:
display(lines);

0.8 1

0.6 1

0.4 1

0.2 1

5.1.6 MapleOODOOOOO

maple 00000000000 DODOOO0O0ODOOO0OO0ODOOOO0OODOOOOODOOOOOOODOO
gooobobooobooboooobdoboooooboooobooboooobOobo0oooboOoDboon

0000000 plot[structure] 0 00 PLOT,PLOT3D D 00O O00O0OOO CURVES,POINTS,POLYGONS, TEXT

gboooobooooon

plottools 10 OO0 PLOTOOODOOODOOODOOODODOOODODOOODOODODOOOODOOOOOarc, arrow,
circle, curve, line, point,sphere 0 D00 D 00OO0OO0OPLOTOOOO0ODOOO DO plots[display] O OO0

plotsJ0000 OJ00ODOOOOO0O0O0ODOOOOOOO LstplotO0lLst000D0O0OO0O0OO0O0DODODOOO
ooooo
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5.2 00O (Animation)

[[Po]]

5.2.1 animated O

plots 00000000 animate 000 0000000000000 0000D00O0000000O0O0Ot0O0O
ooooboog

> with(plots): animate(plot, [sin(x-t),x=0..5%Pi], t=0..10);

t=0.

11

0 T T T
5 0 15

_0.5- X

5.2.2 0OUO0OO0ODOODOOdisplaydd

0000000display 00000000000 insequence=true 10 000000000000000000
000 ()0000000000000000000000

> tmp:=[]: n:=10: for i from O to n do t:=i; tmp:=[op(tmp),
> plot(sin(x-t)+sin(x+t),x=0..5%Pi)]; end do:

JAWAWA

11 X

> display(tmp,insequence=true) ;

5.2.3 0O0O0ODO

OobO0oobOooobooro0o0ob0Oo00obO0o0obO0o0obO00bO000b00bDanimate0000000O000O0O0O
O00000Obackgroond OO0 O000OO0O0OO0OOOOODOOOOO

with(plottools,line): F := proc(t) plots[display] (

line([-2,0], [cos(t)-2,sin(t)],color=blue),

line([cos(t)-2,sin(t)], [t,sin(t)],color=blue),
plot(sin(x),x=0..t,view=[-3..7,-5..5]) ); end:

animate(F, [theta] ,theta=0..2%Pi, background=plot([cos(t)-2,sin(t),t=0..2*Pi]),

V V V V V V

scaling=constrained,axes=none) ;
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5.2.4 0O000OO0OOOO

animation 000 gif 000 plot 000000 OCOO0O00O0OOOOOOOOOOOOOOOCOOOOOOO
oono

> plotsetup(gif,plotoutput=file2): display(tmp,insequence=true);
> plotsetup(default):

0000 quicktime 00000000 OMapleDO0O0O0O000O0DOOOO0OO0OOODO300000O0DO0O0O0O0OO
OvmlOO0OOO0O0OO0O0O0O0D00OO0O0OO0DOO0O (veml; 00)0O
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